Discrete Structures

TUTORIALS: INDUCTION

Prove the following by using induction:
A) T(11) +2(2!) + 3(3!) +...... +nnl)=(n+1)I-1,for n>1
B) 3+ 3(5) +3(5?2) +3(5%) +....+3(5") =3(5"*' - 1), forn >0
4

C) 1(2)+2(3)+34)+....+nn+1)=nn+1) (n+2),forn>1
3

D) 60+ 61+ 62+ 63 ... +é6n=46n*1-1,forn=0
5

E) 7n-1, is divisible by 6, for all integer n > 1

F) n3-nis divisible by 3, for all positive integer n > 2.
G) 32n + 4n+1 s divisible by 5,forn>0

H) n3+ 2nis divisible by 3 givenn >3

[) 2n>(n+2),forallintegern>3

J) 2n<nlfor all positive integern > 4

K) 2n>3n2+5,forn>8

L) 3r<nlforallnx>7.
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